o 2 FE BHFEE-RE BHERIRDAVI—L 5 SH3E10A X
REEE| BHEEEL | HETLRLBERREE ERA| BLRER |HH 2 FERRSE INR SR
BKA | 6 | MERAERS %4 Rk BLE-—MERE 8 R
0209 MRA | 61 | BRRHNBX BIESF|BEEMOLE RV ERICET HEEFED2
1. BEREXOBE
OFFHM QSEENEENE (BHNLERNE. ERBESEERICTHT D) QBAIALIzE >\ T (WD, EALRERET)
M BEFEHERL
0 HEEEOH

2. EBEXONR-ER

R RRER

OH KR (G AEFRICLTLDDH) OFSE S BHEIRD 0EE 15EF 258 SEE 4 5%
S N - RiA| 620 620 560 540 540
7 |EtEROER 7 |EtEOAQN(B1BRAE) A P R cea 551 |
d — e M ..
ES S . . P e
A
7 -1 e ==
3| I R I P
QEH (HEEEDLSWREICLIZL\DH) ORREEZE (EROERE) BHEIRY 0FEE 15EFE 258 3SEE 4 5E
BiE| 275 289 221 278 278
7 |[RELGEEREAHIETS — | 7 |[LREUVEILIESELNES ke |==4&| 372 378 393 P
wmk| 1353% | 130.8% | 177.8% | .o e
BiZ ' .
g — 1 .| N B B B
ERE
BiZ ‘
7 andl IV == [ I R [t R
e I Y I
QFLFHNE GEEEE BHEIRY 0EE 15EF 258 SEE 4 5%
HiE| 2,363 2,444 2,400 2,501 2,501
7 |EETAORIHDOZIL - | 7 |ZiEH FH|EHE| 2406 2,360 PV [y
EmE| 101.8% 96.6% 102.0% | .o s
BiZ ‘ ‘
A e L | I Y D e B
E*g 13 a s
v —| " E I DT T I T
ERE
3. EREEXODTE -aORMEE
FEHE £ ot H 04 IE 02 =] TR FELIOSZ4A EEEE
—fR=E BaEE ARE LRI 02 | o1 HEMLKRLERREE 02555
TR O[30 & 1 GE| 2 FE| 3 FK| 4 FE| gepy | AR | 0 F&| 1 FE| 2 FE| 3 FE| 4 FE| gep
(FH) E# EH EiE A A (FH) EH e EiE RiA 12BN
EEZHE EEXHE
BXHE BEXHE
BT & BT &
Z D 1th 4% 8L Z D fth %84
— AR BIR 2,406 2,444 2,481 2,501 2,501 37 | —#RELR 2,406 2,360 2,447 2,501 2,501 87
&t 2,406 2,444 2,481 2,501 2,501 37| &t 2,406 2,360 2,447 2,501 2,501 87
HEEBE A 1 1 1 1 1
EAREXFEE TR 4 4 4 4 4
BB R
ANEEEH(FH)B) 14 14 13 13 13 -1
BRTHEE 2481 FH |FEHTE 98.6% r—% LR MA+B) 2,420 2,374 2,460 2,514 2,514 86
FEEH 2,481 FH iR 2447 FH
£ %
THEEXERE THEEAR
(¥ %) (R #)




